


DISTANCE EDUCATION

B.B.A. DEGREE EXAMINATION, MAY 2011.

BUSINESS COMMUNICATION

Time : Three hours
Maximum : 100 marks

PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

1. State the different types of business letter.

ÁoPU Piuzvß £» ÁøPPøÍU SÔzx ÂÍUSP.

2. What is banking letters?

Á[QU Piu[PÒ GßÓõÀ GßÚ?

3. Explain about Agenda and Quorum.

{PÌa] {µø»U SÔzx®, SøÓöÁsønU SÔzx® ÂÍUSP.

4. What is collection letters?

öuõS¨¦U Piu® GßÓõÀ GßÚ?

5. State the qualities of a good report.

|À» AÔUøP°ß uµzøuU SÔzx ÂÍUSP.

6. What are the features of a good speech?

Eøµ°ß ]Ó¨¦z ußø©PÒ GßÚ?

7. Explain the objectives of sales letter.

ÂØ£øÚU Piuzvß ÷|õUP[PøÍ ÂÍUSP.

8. State the importance of circular letters.

_ØÓÔUøPU Piuzvß •UQ¯zxÁzøuU SÔzx ÂÍUSP.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

9. Explain the layout of a business letter.

ÁoP ©h¼ß ©õv›ø¯ ÂÍUSP.

10. Write a letter to a company at Bangalore ordering for 50 television sets.

ö£[PÑ›¾ÒÍ J¸ ÁoP {ÖÁÚzvhª¸¢x  
50 ÁõöÚõ¼¨ö£mi AÝ¨£U ÷Põ› J¸ Piu® ÁøµP.

11. Write an application letter for the post of sales manager in a company at Chennai.

ö\ßøÚ°À C¯[S® J¸ {ÖÁÚzvØS ÂØ£øÚ ÷©»õÍº £vÂUPõP J¸ Âsn¨£U Piu® ÁøµP.

12. Write a circular letter announcing about the introduction of a new product by a company.

¦v¯ J¸ EØ£zv¨ ö£õ¸Ò AÔ•P¨£kzxÁx  SÔzx _ØÓÔUøP  Piu® ÁøµP.

13. Describe various types of insurance.

Põ¨¥miß £À÷ÁÖ ÁøPPøÍU SÔzx ÂÍUSP.

14. Write a letter to a banker requesting for a loan.

Á[Q¯›h® Phß ÷Ási Piu® GÊxP.

15. Draft a report about the details of sales in the month of January of a company.

J¸ {ÖÁÚzvß áÚÁ› ©õu ÂØ£øÚ {»ÁµzøuU SÔzx J¸ AÔUøP u¯õº ö\´P.

—————————






DISTANCE EDUCATION

B.B.A. DEGREE EXAMINATION, MAY 2011.

PRINCIPLES OF ECONOMICS

Time : Three hours
Maximum : 100 marks

PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

16. What is law of demand? Why does a demand curve slope downward to the right?

÷uøÁ Âv GßÓõÀ GßÚ? ÷uøÁ ÁøÍ÷Põk Á»x ¦Ó©õP RÌ÷|õUQ Hß \›¢x ö\ÀQÓx?

17. Explain the characteristics or properties of  indifference curve.

\©÷|õUS ÁøÍ÷Põmiß C¯À¦PÒ AÀ»x ]Ó¨¤¯À¦PøÍ ÂÍUSP.

18. Explain the following with illustrations :

(a)
Fixed Cost

(b)
Variable cost

(c)
Average revenue

(d)
Marginal revenue.

RÌUPshÁØøÓ Euõµn[PÐhß ÂÍUSP.

(A)
{ø»¯õÚ ö\»Ä

(B)
©õÖ£k® ö\»Ä

(C)
\µõ\› Á¸Áõ´

(D)
CÖv{ø» Á¸Áõ´.

19. What are the reasons for the existence of monopoly?

•ØÖ›ø© {»ÄÁuØPõÚ Põµn[PÒ ¯õøÁ?

20. What are the characteristics of perfect competition?

{øÓÄ¨ ÷£õmi°ß ]Ó¨¤¯À¦PÒ ¯õøÁ?

21. What is price discrimination? Under what conditions is discrimination possible and profitable?

Âø»¨£õS£õk GßÓõÀ GßÚ? Âø»¨£õS£õk G¢u `Ì{ø»°À »õ£Pµ©õÚuõPÄ® \õzv¯•ÒÍuõPÄ® Aø©²®?

22. Explain the Marginal productivity theory of wages.

T¼°ß CÖv{ø» EØ£zvzvÓß ÷Põm£õmøh ÂÍUSP.

23. Write short notes on :

(a)
Gross interest and net interest.

(b)
Normal profit and excess profit.

RÌUPshÁØÖUS ]Ö SÔ¨¦ ÁøµP.

(A)
ö©õzu Ámi ©ØÖ® {Pµ Ámi

(B)
\õuõµn »õ£® ©ØÖ® ªøP »õ£®.

PART B — (4 × 15 = 60 marks)

Answer any FOUR questions.

24. Discuss the properties of Indifference curve.

\©÷|õUS ÁøÍ÷Põmiß C¯À¦PøÍ ÂÁõvUPÄ®.

25. Explain the determinants of price elasticity of demand.

Âø»z÷uøÁ ö|QÌa]ø¯ wº©õÛUPUTi¯ PõµoPøÍ ÂÍUSP.

26. What is meant by economies of scale? Explain its classification.

EØ£zva ]UPÚ AÍÄ Gß£x GßÚ? Auß ¤›ÄPøÍ ÂÍUSP.

27. What is perfect competition? How is price determined under perfect competition?

{øÓÄ¨÷£õmi GßÓõÀ GßÚ? {øÓÄ¨÷£õmi°À Âø» GÆÁõÖ {ºn¯® ö\´¯¨£kQÓx?

28. Define Oligopoly. Explain the  sources and characteristics of oligopoly.

]»º •ØÖ›ø© Áøµ¯Ö. ]»º •ØÖ›ø©°ß ‰»[PøÍ²®, ]Ó¨¤¯À¦PøÍ²® ÂÍUSP.

29. Explain the different theories of wages.

T¼°ß £À÷ÁÖ ÁøP¯õÚ ÷Põm£õmiøÚ ÂÍUSP.

30. Explain the Ricardian theory of Rent.

›UPõº÷hõÂß ÁõµU ÷Põm£õmiøÚ ÂÍUSP.

–––––––––––––––





DISTANCE EDUCATION

B.B.A. DEGREE EXAMINATION, MAY 2011.

PRINCIPLES OF MANAGEMENT

Time : Three hours
Maximum : 100 marks

SECTION A — (5 × 8 = 40 marks)

Answer any FIVE questions.

All questions carry equal marks.

31. Define Management and write the principles of management.

÷©»õsø©°ß Áøµ¯øÓ ©ØÖ® ÷©»õsø©°ß ÷Põm£õkPøÍ £ØÔ GÊxP.

32. Write the importance of planning.

vmhªku¼ß •UQ¯zxÁ® SÔzx GÊxP.

33. What are the types of decisions?

•iöÁkzu¼ß ¤›ÄPÒ ¯õøÁ?

34. Describe the structure of organisation.

Aø©¨¤ß ÷uõØÓzøu ÂÍUSP.

35. How does the span of management affect the role of a manager?

÷©»õsø© ì÷£ß GÆÂuzvÀ ÷©»õÍ›ß Phø©PøÍ £õvUQÓx?

36. Write the principles of Directing.

C¯USu¾UPõÚ ÷Põm£õkPøÍ £ØÔ GÊxP.

37. What is the connection between leadership and management?

uø»ø© £s¦US® ÷©»õsø©US® Cøh÷¯¯õÚ öuõhº¦ GßÚ?

38. Write the need for control. 

Pmk¨£õmiß ÷uøÁ £ØÔ GÊxP.

SECTION B — (4 × 15 = 60 marks)

Answer any FOUR questions.

All questions carry equal marks.

39. What are the main challenges a manages has to face these days?

C¢u Põ»Pmh[PÎÀ ÷©»õÍº GvºöPõÒÐ® •UQ¯©õÚ \ÁõÀPÒ GøÁ?

40. Discuss about various types of planning.

vmhªku¼ß £À÷ÁÖ ¤›ÄPÒ £ØÔ ÂÍUSP.

41. Is management a science or an art? Discuss.

÷©»õsø© Gß£x AÔÂ¯»õ CÀø» Ax Pø»¯õ – ÂÍUSP.

42. Describe the various motivational theories.

FUSÂzu¾UPõÚ £À÷ÁÖ ÷uØÓzvøÚ SÔzx ÂÁ›.

43. Describe about communication process.

ö\´vz öuõhº¦UPõÚ ö\¯À•øÓ £ØÔ ÂÁ›. 

44. Discuss about leadership theories.

uø»ø©¨ £s¤ß ÷uØÓzvøÚ £ØÔ ÂÁ›.

45. What are the characteristics of control?

Pmk¨£õmiß Snõv\¯[PÒ ¯õøÁ?

————————





DISTANCE EDUCATION

B.B.A. DEGREE EXAMINATION, MAY 2011.

BUSINESS ENVIRONMENT

Time : Three hours
Maximum : 100 marks

SECTION A — (5 × 8 = 40 marks)

Answer any FIVE questions.

46. Define : Business. Explain the basic aspects of business.

Áøµ-¯-Ö : ÁoP®, ÁoPzvß Ai¨£øhPøÍ ÂÍUSP.

47. Cultural environments affect business. Do you agree?

""£s£õmka `ÇÀPÒ ÁoPzøu £õvUQÓx'' – CuøÚ }Âº HØÖU öPõÒQÕºPÍõ?

48. What are the problems of Multinational Corporations?

£ßÚõmk {ÖÁÚ[PÍõÀ HØ£k® ¤µa\øÚPÒ ¯õøÁ?

49. ‘‘Political environment affects business decisions”. Explain.

""Aµ]¯À `ÇÀ ÁoP •iÄPøÍ £õvUQÓx'' – ÂÍUSP.

50. What is meant by Urbanisation?

|Pµ©¯©õUSuÀ GßÓõÀ GßÚ?

51. Narrate how economic and non – economic factors interact in the business environment.

ö£õ¸Íõuõµ® ©ØÖ® ö£õ¸Íõuõµ® \õµõu PõµoPÒ ÁõoPa `Ç¼À GÆÁõÖ Cøn¢x ö\¯À£kQßÓÚ Gß£øu GkzxøµUP.

52. What are the advantages and disadvantages of technology?

öuõÈÀ ~m£zvß |ßø©PÒ ©ØÖ® wø©PÒ ¯õøÁ?

53. What are the consequences of population growth?

©UPÒ öuõøP ö£¸UPzvß ÂøÍÄPÒ ¯õøÁ?

SECTION B — (4 × 15 = 60 marks)

Answer any FOUR questions.

54. Discuss the various environmental factors.

ÁoPzøu¨ £õvUS® £À÷ÁÖ `ÇÀPøÍ ÂÁõv.

55. Explain the ‘Culture’. What is the relationship between Culture and Business?

"£s£õk' ÂÍUSP. £s£õmkUS® ÁoPzvØS® EÒÍ öuõhº¦PÒ ¯õøÁ?

56. Explain the role of castes and communities in development of business in India.

C¢v¯ ÁoP ÁÍºa]°À \õv ©ØÖ® \‰P[PÎß £[S £ØÔ ÂÍUSP.

57. ‘Economic System’ of a country depends on Political Environment. Discuss.

J¸ |õmiß ö£õ¸Íõuõµ Aø©¨¦ Aµ]¯À `Çø» \õº¢xÒÍx. ÂÁõv.

58. Explain the impact of economic Environment of Business.

ö£õ¸Íõuõµa `ÇÀ ÁoPzvÀ HØ£kzx® uõUPzøu ÂÍUSP.

59. What are problems in selecting appropriate technology? Explain.

\›¯õÚ öuõÈÀ~m£zøu ÷uº¢öukzu¼À HØ£k® ¤µa\øÚPÒ ¯õøÁ? ÂÍUSP.

60. What are the advantages and disadvantages of globalization?

E»P©¯©õUSu¼ß |ßø©PÒ ©ØÖ® wø©PÒ ¯õøÁ?

———————






DISTANCE EDUCATION

B.B.A. DEGREE EXAMINATION, MAY 2011.

FINANCIAL ACCOUNTING

Time : Three hours
Maximum : 100 marks

PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

61. How does accounting differ from Book-keeping?

PnUS¨ £vÂ¯À, PnU÷PkPøÍ¨ £µõ©›zu¼¸¢x GÆÁõÖ ÷ÁÖ£kQßÓx?

62. Define a Bill of Exchange. What are its essentials?

©õØÖa^mk JßÔß C»UPn® TÖP. Auß •UQ¯ A®\[PÒ ¯õøÁ?

63. What are the steps to be taken to prepare the receipts and payments a/c from an Income and Expenditure a/c?

ÁµÄ ö\»ÄU PnUQÀ C¸¢x ö£ÖuÀ ö\¾zuÀ PnUQøÚz u¯õ›zu¼À GkUP¨£h÷Ási¯ ÁÈPÒ ¯õøÁ?

64. What are the advantages of subsidiary books?

xøn HkPÎß £¯ßPÒ ¯õøÁ?

65. ‘A’ drew upon ‘B’ several bills of Exchange due for payment on different due date as under :

	Date
	Amount
	Tenure

	02.10.1995
	600
	3 months

	20.10.1995
	800
	2 months

	10.11.1995
	1,000
	3 months

	27.11.1995
	750
	3 months

	08.12.1995
	900
	1 month

	16.12.1995
	1,200
	2 months


Find out the average due date on which a payment may be made in one single amount.

‘A’ Gß£Áº ‘B’ «x £»ÁøP¯õÚ ©õØÖ BÁnzøu GÊv²ÒÍõº. AuÛß öuõøP²® uÁøn |õÐ® R÷Ç uµ¨£mkÒÍx.

	|õÒ
	öuõøP
¹£õ´
	Põ»®

	02.10.1995
	600
	3 ©õu[PÒ

	20.10.1995
	800
	2 ©õu[PÒ

	10.11.1995
	1,000
	3 ©õu[PÒ

	27.11.1995
	750
	3 ©õu[PÒ

	08.12.1995
	900
	1 ©õu®

	16.12.1995
	1,200
	2 ©õu[PÒ


J÷µ uÁøn°À ö\¾zxÁuØS \µõ\› uÁøn |õøÍ PnUQkP.

66. X sent 200 radios each costing Rs. 400 to Y to be sold at his risk. Y was to get a commission of 5% on sales. 
Y spent Rs. 230 on rent and Rs. 1,300 for salesmen’s salaries. Y sold 180 radios at Rs. 500 each. Prepare necessary ledger accounts in the books of X.

X Gß£Áº JÆöÁõßÖ® ¹. 400 AhUP Âø»²ÒÍ 
200 ÁõöÚõ¼¨ ö£miø¯ Y Gß£Á¸US AÝ¨¥k ö\´uõº. ÂØP¨£k® JÆöÁõ¸ ÁõöÚõ¼¨ ö£miUS® 5% Y PÈÄ ö£ÖQÓõº. ÷©¾® AÁº ö\»Âmh ÁõhøP ¹. 230–® ÂØ£øÚ¯õÍº Fv¯® 1,300–® v¸¨¤ uµ¨£kQÓx. 180 ÁõöÚõ¼¨ ö£miø¯ ¹. 500 Ãu® Y ÂØ£øÚ ö\´uõº. ÷uøÁ¯õÚ ÷£÷µmkU PnUSPøÍ X–ß HkPÎÀ u¯õº ö\´P.

67. Record the following transactions in subsidary books 2008 March.

	
	
	Rs.

	1
	Purchased goods from Anand
	1,000

	2
	Sold goods to Babu
	500

	7
	Chandran sold goods to us
	500

	8
	David purchased goods from us
	3,500

	10
	Goods returned from Babu
	100

	12
	Goods returned to Anu
	75

	13
	Goods returned from David
	450

	18
	Sold goods to Mohan
	2,500

	22
	Purchased goods from Madhu
	3,000

	25
	Goods returned to John
	50

	30
	Sold goods to Solomon
	3,000


RÌUPsh |hÁiUøPPøÍ uUP xøn HkPÎÀ £v¯Ä®, ©õºa 2008.

	
	
	¹.

	1
	BÚ¢vh® \µUS Áõ[Q¯x
	1,000

	2
	£õ¦ÂØS \µUS ÂØÓx
	500

	7
	\¢vµß |©US \µUS ÂØÓx
	500

	8
	÷hÂm |®ªh® \µUS Áõ[Q¯x
	3,500

	10
	£õ¦Âhª¸¢x v¸®£¨ ö£ØÓ \µUS
	100

	12
	AÝÄUS \µUS v¸¨¤ AÝ¨¤¯x
	75

	13
	÷hÂm \µUS v¸¨¤ AÝ¨¤¯x
	450

	18
	÷©õPÝUS \µUS ÂØÓx
	2,500

	22
	©xÂh® \µUS Áõ[Q¯x
	3,000

	25
	áõÝUS \µUS v¸¨¤ AÝ¨¤¯x
	50

	30
	\õ»©ÝUS \µUS ÂØÓx
	3,000


68. Suresh and Senthil were partners in a joint venture sharing profits and losses in the ratio of 4 : 1 Suresh  supplies goods value of Rs. 5,000 and incurred expenses Rs. 400. Senthil supplies goods value of Rs. 4,000 and his expenses amount to Rs. 300. Senthil sells  goods on behalf of Joint Venture and realises Rs. 12,000. Senthil is entitled to a commission of 5%. Senthil settles his account by bank draft. Give ledger account in the books of Suresh.

_÷µåû®, ö\¢v¾® 4 :  1 GßÓ ÂQuzvÀ C»õ£ |mhzøu £Qº¢x öPõÒÐ® CønÂøÚ¯ºPÒ BÁº. _÷µè 
¹. 5,000US \µUS AÎzuõº. ¹. 400 ö\»ÄPÒ ö\´uõº. ö\¢vÀ ¹. 4,000–US \µUS AÎzuõº. ¹. 300 ö\»ÄPÒ ö\´uõº. CønÂøÚ \õº£õP ö\¢vÀ \µUøP ¹. 12,000–US ÂØ£øÚ ö\´uõº. ö\¢v¾US 5% PÈÄ Esk. AÁº u©x PnUøP Á[Q Áøµ ‰»® ÷|º ö\´uõº. _÷µæß HkPÎÀ ÷£÷µmkU PnUSPøÍz u¸P.

PART B — (4 × 15 = 60 marks)

Answer any FOUR questions.

69. From the following particulars, prepare trading and profit and loss a/c for the year ended 31st December 2008 and a balance sheet as on that date :

	
	Rs.
	
	Rs.

	Opening stock
	6,050
	Sales
	13,720

	Purchases
	9,030
	Return outwards
	130

	Return inwards
	220
	Capital
	3,000

	Drawings a/c
	450
	Creditors
	4,500

	Land & Buildings
	3,000
	Interest
	50

	Furniture & Fittings
	800
	Commission
	300

	Sundry debtors
	2,500
	Bank overdraft
	4,000

	Cash in hand
	350
	
	

	Investments
	1,000
	
	

	Direct expenses
	750
	
	

	Postage & Stationery
	250
	
	

	Fire insurance premium
	
200
	
	

	Salaries
	1,100
	
	

	
	25,700
	
	25,700


Adjustments :

(a)
Closing stock was valued at Rs. 6,500.

(b)
Goods worth Rs. 50 have been taken away by the proprietor for his personal use.

(c)
Interest on investment Rs. 50 is yet to be received.

(d)
Commission, Rs. 100 is received in advance.

(e)
Rs. 50 of the fire insurance premium paid are in respect of quarter ending 31st March 2009.

(f)
Depreciation is to be provided on land and buildings at the rate of 5% and on furniture and fittings at the rate of 10%.

(g)
Make provision for doubtful debts at the rate of 5% on Sundry debtors.

¤ßÁ¸® C¸¨¦PÎ¼¸¢x 2008 i\®£º 31 ÷uv÷¯õk •iÁøh¢u BsiØPõÚ Â¯õ£õµ C»õ£ |mhU PnUSPøÍ²® Az÷uv°¾ÒÍ£i¯õÚ C¸¨¦{ø»U SÔ¨¤øÚ²® u¯õ›UPÄ®.


	
	¹.
	
	¹.

	öuõhUPa \µUQ¸¨¦
	6,050
	ÂØ£øÚ
	13,720

	öPõÒ•uÀ
	9,030
	öÁÎzv¸¨£®
	130

	EÒv¸¨£®
	220
	•uÀ
	3,000

	Gk¨¦U PnUS
	450
	PhÜ¢÷uõº
	4,500

	{»•® Pmhh•®
	3,000
	Ámi
	50

	©øÚzxøn¨ ö£õ¸Ð®
	
	PÈÄ
	300

	 ö£õ¸zv¯øÁ²®
	800
	Á[Q AvP¨£ØÖ
	4,000

	£Ø£» PhÚõÎPÒ
	2,500
	
	

	øP°¸¨¦ öµõUP®
	350
	
	

	•u½kPÒ
	1,000
	
	

	÷|µia ö\»ÄPÒ
	750
	
	

	Ag\À, GÊxö£õ¸Ò ©ØÖ® öuõø»÷£]
	
250
	
	

	wUPõ¨¥mkU Pmhn®
	200
	
	

	\®£Í®
	1,100
	
	

	
	25,700
	
	25,700


\›UPmhÀPÒ : 

(A)
CÖva \µUQ¸¨¦ ¹. 6,500 GÚ ©v¨¤h¨£mhx.

(B)
¹. 50 ©v¨¦ÒÍ \µUSPÒ E›ø©¯õÍµõÀ AÁ¸øh¯ ö\õ¢u E£÷¯õPzvØS Gkzxa ö\À»¨£mhÚ.

(C)
•u½k «uõÚ Ámi ¹. 50 CßÝ® ö£Ó¨£h ÷Ási²ÒÍx.

(D)
PÈÄ ¹. 100 •ßTmi¨ ö£Ó¨£mkÒÍx.

(E)
ö\¾zu¨£mh wUPõ¨¥k PmhnzvÀ ¹. 50, 2009, ©õºa 31 ÷uv÷¯õk •iÁøh¢u Põ»õsiØSa ö\¾zu¨£mhx.

(F)
{»® ©ØÖ® Pmhh® «x 5%–¾® ©øÚzxøn¨ ö£õ¸Ò ©ØÖ® ö£õ¸¢v¯øÁ «x 10% ¾® ÷u´©õÚ® ö\´¯¨£h ÷Ásk®.

(G)
PhÚõÎPÒ «x 5%–À I¯UPhß Põ¨¦ ö\´P.

70. From the following information relating to the Indian Cricket club prepare Income and Expenditure a/c for the year ending 31st March 1991 and balance sheet as on that date.

	
	
	Rs.
	
	
	Rs.

	To
	Members 
 subscription
	5,000
	By
	Upkeep of field & 
  parillion
	2,000

	"
	Members admission 
  fee
	300
	"
	Tournament 
  expenses
	700

	"
	Sale of old balls & bats
	350
	"
	Rates & insurance
	200

	"
	Hire of ground subscription 
	
	"
	Telephone
	50

	
	 for tournament
	1,000
	"
	Printing & Stationery
	100

	"
	Bank drawn
	4,000
	"
	General charges
	50

	"
	Donations
	10,000
	"
	Secretary’s 
  honorarium
	
170

	
	
	
	"
	Grass seeds
	30

	
	
	
	"
	Bats, Balls etc.
	700

	
	
	
	"
	Bank lodged
	16,650

	
	
	20,650
	
	
	20,650


Assets on 01.04.1990 :

	
	Rs.

	Cash at bank
	3,000

	Stock of bats, balls etc.
	1,500

	Printing & Stationery
	200

	Subscription due
	500

	Liabilities on 01.04.1990
	NIL


Donation and surplus tournament account should be kept in reserve for a permanent pavilion. Subscription due on 31.3.1991 Rs. 750. Write off 50% of bats, balls etc and 25% on printing and stationery.

31.3.91–À •iÄØÓ BsiØS RÌUPsh C¢v¯ß Q›UöPm QÍ¨¤ß ÷\õuøÚ¨ £mi¯¼¼¸¢x Á¸Áõ´ ö\»Ä PnUøP²®, C¸¨¦{ø»¨ £mi¯ø»²® u¯õ›UP.

	
	Rs.
	
	Rs.

	A[PzvÚº \¢uõ
	5,000
	ÂøÍ¯õmk ø©uõÚ® 
	

	A[PzvÚº ÷\ºUøP Pmhn®
	300
	 £õxPõzuÀ
	2,000

	£øÇ¯ £¢x ©møhPÒ
	
	÷£õmi ö\»ÄPÒ
	700

	 ÂØ£øÚ
	350
	Á› Põ¨¥k 
	200

	ø©uõÚ ÁõhøP ÂøÍ¯õmk
	
	öh¼÷£õß 
	50

	 ÷£õmi \¢uõ
	1,000
	Aa_UT¼
	100

	Á[Q°À Gkzux
	4,000
	ö£õx ö\»ÄPÒ
	50

	|ßöPõøhPÒ
	10,000
	ö\¯»›ß Fv¯®
	170

	
	
	¦À ÂøuPÒ
	30

	
	
	£¢x ©møh
	700

	
	
	Á[Q°À ö\¾zvx
	16,650

	
	20,650
	
	20,650


01.04.90–À ö\õzxUPÒ : 

	
	¹.

	Á[Q C¸¨¦
	3,000

	£¢x ©møh C¸¨¦
	1,500

	GÊxö£õ¸Ò, Aa_UT¼
	200

	\¢uõ Á`¼UP ÷Ási¯x
	500

	1.4.90–À ö£õÖ¨¦PÒ
	CÀø»


|ßöPõøhPÐ®, ÷£õmiPÎß E£›¨ £n•® {µ¢uµ ÂøÍ¯õmk vh¾US Põ¨¤À ÷\ºzuÀ ÷Ásk®. 31.3.1991 ¹. 750 £¢x ©møh°ß ©v¨¤À 50% Ãu•® Aa_UT¼ GÊxö£õ¸Ò ©v¨¤À 25% SøÓzuÀ ÷Ásk®.

71. A and B were partners sharing profits and losses in the ratio of 2 : 1. Their balance sheet as on 31.12.2000 was as follows :

	Liabilities
	Rs.
	Assets
	Rs.

	Creditors
	65,900
	Cash at bank
	1,200

	Capital :
	
	Debtors
	9,700

	
A
	30,000
	Stock
	20,000

	
B
	20,000
	Machinery
	35,000

	
	
	Buildings
	50,000

	
	1,15,900
	
	1,15,900


They decided to admit ‘C’ as a partner for 1/3 share in the profits of the firm, subject to the following conditions :

(a)
That he should bring in Rs. 15,000 as his capital.

(b)
That the value of stock and machinery be depreciated by 10%

(c)
That a provisions of 5% on sundry debtors be made for doubtful debts.

(d)
That the value of buildings be appreciated by 
Rs. 9,500.

(e)
That the value of investments Rs. 400 not recorded in the books should be brought into books.

(f)
That the value of liabilities and assets other than cash are not to be altered. Prepare necessary, ledger accounts.

A, B BQ÷¯õº 2 :  1 GßÓ ÂQuzvÀ C»õ£ |mh[PøÍ¨ £Q¸® TmhõÎPÒ. AÁºPÎß 31, i\®£º 2000 |õøÍ¯ C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ : 

	ö£õÖ¨¦PÒ
	¹.
	ö\õzxUPÒ
	¹.

	PhÜ¢÷uõº
	65,900
	Á[Q°¸¨¦ öµõUP®
	1,200

	•uÀ :
	
	PhÚõÎPÒ
	9,700

	
A
	30,000
	\µUQ¸¨¦
	20,000

	
B
	20,000
	G¢vµ®
	35,000

	
	
	Pmih®
	50,000

	
	1,15,900
	
	1,15,900


RÌUPsh Áøµ±kPÐUSm£mk ‘C’ Gß£Áøµ 3–Áx TmhõÎ¯õPa ÷\ºzxU öPõÒÍ J¨¦UöPõshÚº. C–US 1/3 £[S »õ£® AÎUP¨£k® 

(A)
AÁº ¹. 15,000 •u»õP öPõskÁµ ÷Ásk®.

(B)
\µUQ¸¨¦ ©ØÖ® G¢vµ® BQ¯ÁØÔß ©v¨¦ 10% SøÓUP¨£h ÷Ásk®.

(C)
5% I¯UPhß PhÚõÎPÒ «x HØ£kzu¨£k®.

(D)
Pmihzvß ©v¨¤À ¹. 9,500 ©v¨÷£ØÓ® ö\´¯¨£h ÷Ásk®.

(E)
C¸¨¦{ø»U SÔ¨¤À Põmh¨£hõu •u½kPÒ 
¹. 400–I PnUQÀ öPõsk Áµ ÷Ásk®.

(F)
ö£õÖ¨¦PÎß ©v¨¦PÒ ©ØÖ® öµõUP® uÂµ Cuµ ö\õzxUPÒ BQ¯ÁØÔß ©v¨¦ ©õØÓ® ö\´¯¨£hÂÀø».


÷uøÁ¯õÚ ÷£÷µkPøÍz u¸P.

72. A Ltd. Company invited application for 5,000 shares of Rs. 100 each at a discount of 5% payable as follows :

On application Rs. 20

On allotment Rs. 30

On first and final call Rs. 35.

The applications were received for 4,000 shares and all of these were accepted. All money due were received except the first and final call on 100 shares which were forfetied. 50 shares were reissued @ Rs. 90 as fully paid pass necessary journal entries.

J¸ Áøµ¯ÖUP¨£mh {Ö©® ¹. 100 •P©v¨¦øh¯ 
5000 £[SPøÍ 5% Ámh® ö\´x RÌUPshÁõÖ öÁÎ°h Âsn¨£® ÷Põ›¯x.

Âsn¨£zxhß ¹. 20

JxURmiß ÷£õx ¹. 30

¹. 35 •uÀ ©ØÖ® CÖv AøÇ¨¦ «x 

4000 £[SPÐUPõÚ Âsn¨£[PÒ ö£Ó¨£mk •ÊÁx® JxURk ö\´¯¨£mhx. 100 £[SPÐUPõÚ •uÀ ©ØÖ® CÖv AøÇ¨¦ uÂµ «v öuõøP •ÊÁx® ö£Ó¨£mhx. 
100 £[SPÐ® JÖ¨¤Ç¨¦ ö\´¯¨£mhx. AvÀ 50 £[SPÒ ©mk® ¹. 90–US ©ÖöÁÎ±k ö\´¯¨£mhx. {Ö©zvß HkPÎÀ £vÄ ö\´²® •uØSÔ¨¦ u¸P.

73. Prepare a Bank reconciliation statement as on 30.09.2006.

(a)
Balance as per pass book (Cr.) Rs. 9,000.

(b)
Cheques issued but not presented Rs. 15,000.

(c)
Cheques deposited but not credited Rs. 1,500.

(d)
The credit side of the cash column has been 
over–added by Rs. 500.

(e)
Banker has given credit in the pass book for interest Rs. 150.

(f)
He has also given a wrong credit relating to some other account Rs. 300.

30.09.2006–UPõÚ Á[QUPnUS \›UPmk® £mi¯À  u¯õ›UPÄ® : 

(A)
ö\À¾¨ ¦zuPzvß£i¯õÚ C¸¨¦ (ÁµÄ) ¹. 9,000.

(B)
ÂkUP¨£mk BÚõÀ •ßÛh¨£hõu Põ÷\õø»PÒ 
¹. 15,000.

(C)
øÁ¨¦ ö\´¯¨£mk, BÚõÀ ÁµÄ øÁUP¨£hõu Põ÷\õø»PÒ ¹. 1,500.

(D)
öµõUP¨ £zv°ß ÁµÄ¨ £Sv°À ¹. 500 AvP©õPU Tmh¨£mkÒÍx.

(E)
Á[Q¯º ö\À¾¨¦zuPzvÀ ÁmiUPõP ¹. 150–US ÁµÄ öPõkzxÒÍõº.

(F)
AÁº ÷ÁöÓõ¸ PnUS öuõhº£õÚ uÁÓõÚ ÁµÄ JßÔøÚ²®, ¹. 300–US öPõkzxÒÍõº.

74. Kannan sells goods for Rs. 1,000 to Lakshman on 1st January 2009 and on the same date draws a bill on Lakshman at three months for the amount. Lakshman accepts it and returns it to Kannan, who discounted it on 3rd January 2009 with his bank at 6% per annum. The acceptance is dishonoured  on due date, the noting charges paid by the bank being Rs. 60. On 5th April 2009, Lakshman accepts a new bill at three months for the amount due to Kannan together with interest at 12% p.a. Make journal entries to record these transactions in the books of Kannan and Lakshman.

Psnß C»US©ß Gß£Á¸US ¹. 1,000–US \µUQøÚ 2009 áÚÁ› •uÀ ÷uv¯ßÖ ÂØÖ Âmk A÷u |õÎÀ AzöuõøPUS C»US©ß «x ‰ßÖ ©õu[PÐUPõÚ ©õØÖa^mk JßÔøÚ GÊxQÓõº. C»US©ß AuøÚ HØ¦ ö\´x PsnÝUSz v¸¨¤¯Ý¨¦QÓõº. Psnß AuøÚ 2009 áÚÁ› 3 AßÖ, ußÝøh¯ Á[Q°À BsiØS 6% uÒÐ£i ö\´QÓõº. HØ¦ uÁøn |õÍßÖ, £n©ÎUP¨£hõ©À Âh¨£kQßÓx. Á[Q°ÚõÀ ö\¾zu¨£mh SÔ¨¦U Pmhn® ¹. 60. 2009 H¨µÀ 5 AßÖ C»US©ß, PsnÝUS uµ ÷Ási¯ £nzvØS, BsiØS 12% Ámi ÷\ºzx ‰ßÖ ©õu[PÐUPõÚ ¦v¯ ©õØÖa^mk JßÔøÚ HØQÓõº.

C¢u |hÁiUøPPøÍ Psnß C»US©ß BQ÷¯õ¸øh¯ HkPÎÀ £vÄ ö\´ÁuØPõÚ •uØSÔ¨÷£mk¨ £vÄPøÍ ö\´¯Ä®.

75. Rectify the following errors :

(a)
Purchase book carried forward Rs. 60 in excess.

(b)
Sales book carried forward Rs. 100 less.

(c)
Sales book carried forward Rs. 972 instead of 
Rs. 792.

(d)
Purchase book carried forward Rs. 13 more on page No. 20 and again Rs. 31 more on page no. 21.

(e)
Salary Rs. 400 paid to Anand has been to his account.

RÌUPsh ¤øÇPøÍ }UPÄ® : 

(A)
öPõÒ•uÀ HmiÀ ¹. 60 AvP©õP Gkzxa ö\À»¨£mkÒÍx.

(B)
ÂØ£øÚ HmiÀ ¹. 100 SøÓzx Gkzxa ö\À»¨£mkÒÍx.

(C)
ÂØ£øÚ HmiÀ ¹. 792–US £vÀ ¹. 972 Gkzxa ö\À»¨£mkÒÍx.

(D)
öPõÒ•uÀ Hk £UP GsPÒ 20, 21 •øÓ÷¯ ¹. 13, 
¹. 31, AvP©õP Gkzxa ö\À»¨£mkÒÍx. 

(E)
BÚ¢z Gß£Á¸US öPõkUP¨£mh \®£Í® ¹. 400, BÚ¢z PnUQÀ £ØÖ øÁUP¨£mkÒÍx.

–––––––––––––––

 



DISTANCE EDUCATION

B.B.A./B.B.A. (Lateral) DEGREE EXAMINATION, MAY 2011.

BANKING THEORY, LAW AND PRACTICE

Time : Three hours
Maximum : 100 marks

PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

All questions carry equal marks.

76. Write a note on credit creation by commercial banks.

ÁoP Á[QPÎß Phß E¸ÁõUP® £ØÔ SÔ¨¦ GÊxP.

77. What are the important functions of the State Bank of India? 

£õµu Á[Q°ß •UQ¯ £oPÒ ¯õøÁ?

78. List the credit control measures of the central bank. 

ø©¯ Á[Q°ß PhßPmk¨£õmk ö|Ô•øÓPøÍ £mi¯¼kP.

79. How will you measure the role of public sector banks in the Indian banking system?

C¢v¯ Á[Q Aø©¨¤À ö£õxzxøÓ Á[Q°ß £[QøÚ GÆÁõÖ AÍÂkÁõ´?

80. What are the major objectives of nationalisation of banks in India?
C¢v¯õÂÀ Á[QPÒ ÷u]¯©¯©õUP¨£kÁuØPõÚ ¤µuõÚ Põµn[PÒ ¯õx?

81. What are the components of the Indian money market?

C¢v¯ £na\¢øu°ß TÖPÒ ¯õøÁ?

82. What are the precautions to be taken by the banker before opening a savings bank account for a minor?

J¸ CÍÁøµ ÷\ª¨¦ PnUQÀ ÷\º¨£uØS •ß Á[Q¯º ÷©ØöPõÒÍ÷Ási¯ •ßöÚa\›UøPPÒ ¯õøÁ?

83. Explain the legal position of a banker as regards to fixed deposits.

{ø»zu øÁ¨¦ \õº¢u Á[Q¯›ß \mh {ø»ø¯ ÂÁ›UP.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

All questions carry equal marks.

84. Describe the various functions of commercial banks.

ÁoP Á[Q°ß £À÷ÁÖ £oPøÍ ÂÁ›UP.

85. Explain the different kinds of functions of Central bank. 

ø©¯ Á[Q°ß öÁÆ÷ÁÖ ÁøP¨ £oPøÍ ÂÍUSP.

86. What are the advantages and limitations of Unit and Branch banking?

uÛ ©ØÖ® QøÍ Á[QPÎß |ßø© ©ØÖ® SøÓ£õkPÒ ¯õøÁ? 
87. List the reasons for backwardness of the Indian money market. What is the role of commercial banks in the Indian money market?

C¢v¯ £na\¢øu°ß ¤ßu[Q¯ {ø»UPõÚ Põµn[PøÍ £mi¯¼kP. C¢v¯ £na\¢øu°À ÁoP Á[QPÎß £[S ¯õx?

88. Illustrate the special relationship between a banker and a customer.

Á[Q¯¸US® ÁõiUøP¯õÍ¸US® EÒÍ ]Ó¨¦ EÓÄPøÍ ÂÍUSP.

89. Define a Cheque. Describe the different types of Cheques and its uses.

Põ÷\õø»°ß C»UPn® ÁøµP. P÷\õø»°ß £À÷ÁÖ ÁøPPøÍ ©ØÖ® £¯ßPøÍ ÂÁ›UP.

90. Define crossing. Illustrate different types of crossing.

RÓ¼kuÀ C»UPn® ÁøµP. RÓ¼ku¼ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP.

———————
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B.B.A./B.B.A. (Lateral) DEGREE EXAMINATION, MAY 2011.

COMPANY LAW

Time : Three hours
Maximum : 100 marks

PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

91. What are the advantages of joint stock companies?

P®ö£Û Aø©¨¤ß |ßø©PÒ ¯õøÁ?

92. Bring out the differences between public company and private company.

ö£õxU P®ö£Û ©ØÖ® uÛU P®ö£ÛPÐUS Cøh÷¯¯õÚ ÷ÁÖ£õkPøÍ GÊxP.

93. What do you understand by doctrine of Indoor Management?

EÒ {ºÁõPU ÷Põm£õmiß ‰»® } ¦›¢x öPõÒÁx ¯õøÁ?

94.  Define preference shares and explain its various kinds.

•ßÝ›ø©¨ £[SPøÍ ÂÁ›zx Auß ÁøPPøÍ ÂÍUSP.

95. State the provisions relating to valid allotment of shares.

ö\ÀuS £[SPøÍ JxURk ö\´uÀ öuõhº£õÚ \mh \µzxUPøÍ SÔ¨¤kP.

96. Define a director and explain the law relating to number of directors.

C¯US|º Gß£Áº ¯õº? C¯US|º £uÂUPõÚ Ea\ Áµ®¦ ¯õx?

97. What are the essentials of a company meeting?

P®ö£Û Tmhzvß Ai¨£øh TÖPÒ ¯õøÁ?

98. Who may file a petition in the court for winding up?

Pø»¨¤ØPõÚ ©ÝøÁ ¯õº }v©ßÓzvÀ uõUPÀ ö\´¯»õ®?

PART B — (4 × 15 = 60 marks)

Answer any FOUR questions.

99. Discuss the various stages in the formation of a company.

P®ö£Û E¸ÁõUPzvß £À÷ÁÖ {ø»PøÍ ÂÁõvUPÄ®.

100. What is the procedure for alteration of memorandum of association?

Aø©¨¦a \õ\Úzøuz v¸zxuÀ öuõhº£õÚ |øh•øÓPÒ ¯õøÁ?

101. Describe the various ways in which the share capital of a company may be reduced.

P®ö£Û°ß £[S ‰»uÚzøuU SøÓUS® £À÷ÁÖ ÁÈPøÍ ÂÁ›zxU TÖP.

102. Discuss the legal position of directors.

C¯US|ºPÎß \mh {ø»ø©ø¯ ÂÁ›.

103. Explain the provisions of the Companies Act 1956, relating to extra ordinary General Meeting.

A\õuõµn ö£õxU Tmh® öuõhº£õÚ P®ö£Ûa \mh® 1956&Cß \mha \µzxUPøÍ ÂÍUSP.

104. Explain the different types of voluntary winding up.

ußÚõºÁ Pø»¨¤ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP.

105. Discuss the powers and duties of liquidator.

Pø»¨£õÍ›ß AvPõµ[PÒ ©ØÖ® Phø©PøÍ ÂÁ›UPÄ®.

—————————





DISTANCE EDUCATION

B.B.A./B.B.A. (Lateral) DEGREE EXAMINATION, MAY 2011.
BUSINESS STATISTICS

Time : Three hours
Maximum : 100 marks

PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

106. What is the importance of Statistics? Write its limitations.

¦ÒÎ°¯¼ß •UQ¯zxÁ® ¯õx? Auß SøÓ£õkPøÍ GÊxP.

107. What are the various methods of random sampling? Explain in brief.

£À÷ÁÖ ÷µsh® TÖ Po¨¤ß •øÓPøÍ _¸UP©õP ÂÍUPÄ®.

108. What is meant by classification? Write its types.

£õS£kzuÀ GßÓõÀ GßÚ? AÁØÔß ÁøPPøÍ GÊxP.

109. Compare Mean, Median and Mode. Briefly explain their uses.

Tmka \µõ\›, Cøh{ø» ©ØÖ® •Pk CøÁPøÍ J¨¦ ÷|õUSP. AøÁPÎß £¯ßPøÍ ÂÁ›.

110. Calculate Mean deviation from the following series :

	X :
	10
	11
	12
	13
	14

	f :
	3
	12
	18
	12
	3


R÷Ç PshøÁPÎ¼¸¢x AÁØÔß \µõ\› Â»UPzøu PnUQkP :

	X :
	10
	11
	12
	13
	14

	f :
	3
	12
	18
	12
	3


111. From the following data construct an index for 2009 taking 2008 as base by the average of relatives method using arithmetic mean.

	Commodity
	Price in 2008
	Price in 2009

	
	(Rs.)
	(Rs.)

	A
	50
	70

	B
	40
	60

	C
	80
	90

	D
	110
	120

	E
	20
	20


R÷Ç uµ¨£mkÒÍ ÂÁµ[PøÍU öPõsk 2008&B® Bsiß Ai¨£øh°À 2009&UPõÚ GÎ¯ \µõ\› Âø» SÔ±möhsPÒ PõsP.

	ö£õ¸Ò
	Âø» (¹.)

	
	2008
	2009

	A
	50
	70

	B
	40
	60

	C
	80
	90

	D
	110
	120

	E
	20
	20


112. What are the components of Time Series? Explain briefly.

Põ»z öuõhº Á›ø\ EÖ¨¦PøÍ _¸UP©õP ÂÍUSP.

113. What do you mean by Index numbers? State the uses of index numbers.

SÔ±möhsPÒ Gß£uß ö£õ¸Ò ¯õx? AÁØÔß £¯ßPøÍ GÊx.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

114. Compute the Mean, Median and Mode from the following data :

	Marks :
	10–20
	20–30
	30–40
	40–50
	50–60

	No. of students :
	10
	15
	25
	20
	12


R÷Ç²ÒÍ ÂÁµ[PøÍU öPõsk Tmka \µõ\›, Cøh{ø» ©ØÖ® •Pk ©v¨¦PøÍ PnUQkP :

	©v¨ö£sPÒ :
	10–20
	20–30
	30–40
	40–50
	50–60

	©õnÁºPÎß 
  GsoUøP :
	
10
	
15
	
25
	
20
	
12


115. Calculate Karl Pearson’s coefficient of skewness from the following data :

	Marks more than :
	5
	15
	25
	35
	45

	No. of students :
	120
	105
	96
	85
	72

	Marks more than :
	55
	65
	75
	85
	

	No. of students :
	58
	42
	12
	0
	


R÷Ç Psh ÂÁµ[PÎ¼¸¢x PõµÀ ¤¯º\Ûß ÷Põmh öPÊøÁ PnUQkP.

	©v¨ö£sPÒ (&US ÷©À) :
	5
	15
	25
	35
	45

	©õnÁºPÒ :
	120
	105
	96
	85
	72

	©v¨ö£sPÒ (&US ÷©À) :
	55
	65
	75
	85
	

	©õnÁºPÒ :
	58
	42
	12
	0
	


116. Find the coefficient of standard deviation from the following data :

	Age under :
	10
	20
	30
	40

	No. of persons dying :
	15
	30
	53
	75

	Age under :
	50
	60
	70
	80

	No. of persons dying :
	100
	110
	115
	125


RÌPsh ÂÁµ[PÎ¼¸¢x vmh Â»UP öPÊøÁ PshÔP :

	Á¯x (&US RÌ) :
	10
	20
	30
	40

	CÓUS® |£ºPÒ GsoUøP :
	15
	30
	53
	75

	Á¯x (&US RÌ) :
	50
	60
	70
	80

	CÓUS® |£ºPÒ GsoUøP :
	100
	110
	115
	125


117. Calculate the coefficient of correlation between X and Y assuming 69 and 112 as the mean value of X and Y respectively.

	X :
	78
	89
	99
	60
	59
	79
	68
	61

	Y :
	125
	137
	156
	112
	107
	136
	123
	108


X ©ØÖ® Y ©õÔPÎß \µõ\› •øÓ÷¯ 69 ©ØÖ® 112 GßÖ øÁzx öPõsk CµsiØS® Cøh÷¯²ÒÍ JmkÓøÁ PnUQkP.

	X :
	78
	89
	99
	60
	59
	79
	68
	61

	Y :
	125
	137
	156
	112
	107
	136
	123
	108


118. Assume a four-yearly cycle and calculate the trend by the method of moving average from the following data :

	Year
	Production (mn. lbs)

	1997
	464

	1998
	515

	1999
	518

	2000
	467

	2001
	502

	2002
	540

	Year
	Production (mn. lbs)

	2003
	557

	2004
	571

	2005
	586

	2006
	612


|õßS Á¸h _ÇØ]ø¯U öPõsk |P¸® \µõ\› ‰»® }Ò÷£õUQøÚ PnUQkP :

	Bsk
	EØ£zv 

	1997
	464

	1998
	515

	1999
	518

	2000
	467

	2001
	502

	2002
	540

	2003
	557

	2004
	571

	2005
	586

	2006
	612


119. Compute Fisher’s ideal index number from the following commodity assuming 2003–04 as base year :

	Commodity
	2003–2004
	2009–2010

	
	Price
	Qty.
	Price
	Qty.

	Medicine
	20
	8
	40
	6

	Dress
	50
	10
	60
	5

	Vegetables
	40
	15
	50
	15

	Food items
	20
	29
	20
	25

	Rent
	60
	1
	75
	1


RÌPsh ÂÁµ[PÎ¼¸¢x ¤å›ß ÂÊª¯ Âø» SÔ±möhs PõsP. (2003–04 Ai¨£øh Bsk GÚU öPõÒP)

	ö£õ¸Ò
	2003–2004
	2009–2010

	
	Âø»
	AÍÄ
	Âø»
	AÍÄ

	©¸zxÁ®
	20
	8
	40
	6

	Eøh
	50
	10
	60
	5

	Põ´PÛ
	40
	15
	50
	15

	EnÄ¨ ö£õ¸Ò
	20
	29
	20
	25

	C¸¨¤h®
	60
	1
	75
	1


120. Explain different methods of collecting primary data with their merits and demerits.

•uÀ{ø» ÂÁµ[PÒ ÷\P›zu¼À £¯ß£kzu¨£k® •øÓPøÍ ÂÍUQ Auß {øÓ SøÓPøÍ GÊxP.

———————
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BUSINESS (COMMERCIAL) LAW

Time : Three hours
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PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

121. State the rules for valid offer.

ö\À»zuUP •øÚÂß Âv•øÓPøÍU TÖP.

122. ‘‘All agreements are not contracts, all contracts are agreement’’-Discuss.

‘‘GÀ»õ Ehß£iUøP²® J¨£¢u® BPõx, AøÚzx J¨£¢u•® Ehß£iUøP÷¯’’& ÂÁõv.

123. Explain breach of contract as a mode of discharge of contract.

J¨£¢u •iÂØUS J¨£¢u «ÖuÀ J¸ •øÓ÷¯ & ÂÁ›.

124. Write a note on Quasi contracts.

J¨£¢u ÷£õÀÄ SÔzx ]Ö SÔ¨¦ ÁøµP.

125. What is the responsibility of finder of goods?

ö£õ¸øÍU PsöhkzuÁ›ß ö£õÖ¨¦ GßÚ?

126. When does a bailment comes to an end?

G¨ö£õÊx J¨£øhÄ •iÂØS Á¸®?

127. What is contract of sale?

ÂØ£øÚ J¨£¢u® GßÓõÀ GßÚ?

128. What are the duties of a common carrier?

ö£õxa\µU÷PØÔ°ß Phø©PÒ ¯õøÁ?

  PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

129. ‘‘An agreement without consideration  is void’’-Explain.

‘‘©Ö£¯ÛÀ»õ Ehß£iUøP ö\À»õx ’’ & ÂÁ›.

130. Explain the rules for delivery of goods.

\µUS ÁÇ[PÀ öuõhº£õÚ ÂvPøÍ ÂÁ›.

131. Discuss the  duties and rights of a bailor and balilee.

J¨£øhÄ öPõk¨÷£õº ©ØÖ® J¨£øhÄ ö£Ö÷Áõ›ß Phø©PøÍ ÂÁõv.

132. Explain different types of contracts.

£À÷ÁÖ J¨£¢u •øÓPøÍ ÂÁ›.

133. Distinguish between ‘dissolution of a firm’ and ‘dissolution of partnership’.

{ÖÁÚU Pø»¨ø£²® ©ØÖ® Tmhõsø©U Pø»¨ø£²©  ÷ÁÖ£kzxP.

134. ‘‘A contract of insurance is a contract of uberrimae 
fidei ’’ - Explain.

‘‘Põ¨¥mk J¨£¢u® ªUP |ßÚ®¤UøP öPõshx ’’ & ÂÁ›.

135. What is a carrier? How it can be classified?

\µU÷PØÔ GßÓõÀ GßÚ? GÆÁõÖ ÁøP¨£kzu»®?

——————
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COST ACCOUNTING

Time : Three hours
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PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

136. Explain briefly the various elements of Cost.

AhUPÂø»°ß £À÷ÁÖ TÖPøÍ _¸UP©õP ÂÁ›.

137. What are the causes for labour turnover?

£o¯õÍº _ÇØ]UPõÚ Põµn[PÒ ¯õøÁ?

138. What do you understand by allocation of overheads? How does it differ from apportionment of overheads?

÷©Øö\»ÄPÒ JxURk £ØÔ }Âº AÔÁÚ ¯õøÁ? C¢u ÷©Øö\»ÄPÒ £[Rmi¼¸¢x GÆÁõÖ ÷ÁÖ£kQÓx?

139. 600 units were introduced in a process at Rs. 20 per unit. 500 units were completed and transferred to the finished goods stores. The normal process loss was 20% of the input, and the scrap is normally sold to a contractor at Rs. 3 each. The labour and overhead expenditure incurred in the process amounted to Rs. 600.

Show the process account and abnormal gain account.

J¸ £i•øÓ°À, A»SUS ¹. 20 Ãu® 600 A»SPÒ AÔ•P¨£kzu¨£mhÚ. 500 A»SPÒ •iÄ ö£ØÖ, •Êø©¯øh¢u ö£õ¸mPÎß  £shP\õø»US ©õØÓ¨£mhx. Ckö£õ¸ÒPÎÀ 20% C¯À£õÚ £i•øÓ |mh® BS®. ªa\zxqUSPÒ JÆöÁõßÖ®, ¹. 3 Ãu® J¸ J¨£¢uUPõµ¸US ÂØ£øÚ ö\´¯¨£mhx. C¢u £i•øÓUPõÚ T¼ ©ØÖ® ÷©Øö\»ÄPÒ ¹. 600 BS®.

£i•øÓU PnUS ©ØÖ® A\õuõµn C»õ£U PnUøP²® Põs¤UP.

140. What is variance in standard costing? Explain.

uµ AhUPÂø»°À ÷ÁÖ£õkPÒ GßÓõÀ GßÚ? ÂÍUSP.

141. Explain the procedure to reconcile cost and financial accounts at the end of an accounting period.

J¸ PnUQk® Põ»zvß CÖv°À, AhUPÂø» ©ØÖ® {v°¯À PnUSPøÍ \›UPmkÁuØPõÚ ÁÈ•øÓPøÍ ÂÍUSP.

142. Calculate labour variances :

	
	Standard
	Actual

	Number of workers
	10
	9

	Working hours per month
	200
	180

	Output in units
	
	

	Average wages per worker
	5000
	4800

	per month (Rs.)
	2000
	1980


EøÇ¨¦ ÷ÁÖ£õkPøÍU PnUQkP.

	
	{ºn°UP¨£mhx
	Esø©¯õÚx

	£o¯õÍºPÎß GsoUøP
	10
	9

	J¸ ©õuzvØPõÚ ÷Áø» ÷|µ[PÒ
	200
	180

	EØ£zv A»SPÎÀ
	5000
	4800

	J¸ ©õuzvØS, J¸ £o¯õÍ¸UPõÚ
	
	

	\µõ\› T¼ (¹.)
	2000
	1980


143. Calculate machine hour rate from the following :

Cost of machine Rs. 19,200

Estimated scrap value Rs 1,200

Average repairs and maintenance charges per month 
Rs. 150

Standing charges allocated to machine per month Rs. 50

Effective working life of machine 10,000 hours

Running time per month 166 hours

Power used by machine :

5 units per hour @ 19 paise per unit.

¤ßÁ¸ÁÚØÔ¼¸¢x, C¯¢vµ ©o ÃuzøuU PnUQkP.

C¯¢vµzvß AhUPÂø» ¹. 19,200

©v¨¤h¨£mh Ga\ ©v¨¦ ¹. 1,200

J¸ ©õuzvØPõÚ \µõ\› £Êx£õº¨¦PÒ ©ØÖ® £µõ©›¨¦ ö\»ÄPÒ ¹. 150

J¸ ©õuzvØPõÚ JxURk ö\´¯¨£mh {ø»¯õÚ ö\»ÄPÒ ¹. 50.

C¯¢vµzvß £¯ßPõ»® 10,000 ©oPÒ.

J¸ ©õuzvØS C¯UP¨£kQßÓ ÷|µ® 166 ©oPÒ

C¯¢vµzuõÀ £¯ß£kzu¨£mh \Uv J¸ A»QØS 19 ø£\õ Ãu®, J¸ ©oUS 5 A»SPÒ.

PART B — (4 × 15 = 60 marks)

Answer any FOUR questions.

144. From the following particulars, prepare a cost sheet showing :

(a)
Cost per unit and

(b)
Profit


Raw material consumed Rs. 20,000


Direct wages Rs. 18,000


Machine hours worked 3,000 hours


Machine hour rate Rs. 2


Office overheads - 10 % of the works cost


Selling overheads - Rs. 2.50 per unit


Units produced 5000


Units sold 4600 units @ Rs. 30 each.

¤ßÁ¸® ÂÁµ[PÎ¼¸¢x, 

(A)
J¸ A»QØPõÚ AhUPÂø» ©ØÖ®

(B)
C»õ£zvøÚ PõmkQßÓ AhUPÂø»¨ £mi¯À u¯õ›UP.


~Pµ¨£mh Pa\õ¨ö£õ¸mPÒ ¹. 20,000


÷|µiU T¼ ¹. 18,000


C¯UP¨£mh C¯¢vµ ©o÷|µ® 3,000 ©oPÒ


C¯¢vµ ©o Ãu® ¹.2


A¾Á»P ÷©Øö\»ÄPÒ & öuõÈØ\õø» AhUPzvÀ 10%


ÂØ£øÚ ÷©Øö\»ÄPÒ & A»S JßÔØS ¹. 2.50


EØ£zv ö\´¯¨£mh A»SPÒ & 5,000


ÂØ£øÚ ö\´¯¨£mh A»SPÒ & 4,600  A»SPÒ JßÖUS ¹. 30 Ãu®.

145. Calculate the earnings of a worker under :

(a)
Halsey plan

(b)
Halsey - Weir plan and 

(c)
Rowan plan.


Standard time 10 hours


Time taken 8 hours


Time rate Rs. 2 per hour.

J¸ £o¯õÍº Dmi¯z öuõøP°øÚ 

(A)
íõÀ÷\ vmh® 

(B) íõÀ÷\&öÁ¯º vmh® ©ØÖ®

(C)
÷µõÁõß vmhzvß RÌ PnUQkP.


{ºn°UP¨£mh ÷|µ® 10 ©oPÒ 


GkzxUöPõsh ÷|µ® 8 ©oPÒ


÷|µ Ãu® J¸ ©oUS ¹. 2.

146. What do you understand by under absorption and over absorption of overheads? Explain.

÷©Øö\»ÄPÎß SøÓ «m¦ ©ØÖ® AvP «m¦ £ØÔ }Âº AÔÁÚ ¯õøÁ? ÂÍUSP.

147. Calculate the cost of each process and total cost of production from the data given below :

	
	Process I
	Process 2
	Process 3

	
	Rs.
	Rs.
	Rs.

	Material
	2,250
	750
	300

	Wages
	1,200
	3,000
	900

	Direct expenses
	500
	500
	500

	Works overhead
	1,890
	2,580
	1,875


The indirect expense of Rs. 1,275 should be opportioned on the basis of wages.

R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÎ¼¸¢x, JÆöÁõ¸ £i•øÓ°ß AhUPÂø»ø¯²®, EØ£zv°ß ö©õzu AhUP Âø»ø¯²® PnUQkP.

	
	£i•øÓ 1
	£i•øÓ 2
	£i•øÓ 3

	
	¹.
	¹.
	¹.

	‰»¨ö£õ¸mPÒ
	2,250
	750
	300

	T¼
	1,200
	3,000
	900

	÷|µia ö\»ÄPÒ
	500
	500
	500

	Bø» ÷©Øö\»ÄPÒ
	1,890
	2,580
	1,875


©øÓ•Pa ö\»ÄPÍõÚ ¹. 1,275, T¼°ß Ai¨£øh°À £Qº¢uÎUP¨£h ÷Ásk®.

148. From the following particulars, calculate material variances :

	Material
	Standard
	Standard
	Actual
	Actual

	
	quantity
	price
	quantity
	price

	
	(kg)
	(Rs.)
	(kg)
	(Rs.)

	X
	    20
	5
	    24
	4.00

	Y
	    16
	4
	    14
	4.50

	Z
	    12
	3
	    10
	3.25

	
	    48
	
	     48
	


¤ßÁ¸® uPÁÀPÎ¼¸¢x, ‰»¨ö£õ¸ÒPÒ ÷ÁÖ£õkPøÍU PnUQkP.

	‰»¨ö£õ¸mPÒ
	uµAÍÄ
	uµÂø»
	Esø©
	Esø©

	
	(Q÷»õ Qµõ®)
	(¹.)
	AÍÄ
	Âø»

	
	
	
	(Q÷»õ Qµõ®)
	(¹.)

	X
	    20
	5
	   24
	4.00

	Y
	   16
	4
	   14
	4.50

	Z
	    12
	3
	    10
	3.25

	
	    48
	
	   48
	


149. Ascertain the profit as per financial accounts by preparing a reconciliation statement

(a)
Profit as per costing records Rs. 1,45,000

(b)
Factory overheads under recovered in cost books 
Rs. 3,500

(c)
Office overheads under recovered in financial books Rs. 1,500.

(d)
Depreciation shown excess in costing books Rs. 950

(e)
Interest on investments Rs. 495

(f)
Receipt of income from share transfer Rs. 200

(g)
Provision made for income tax Rs. 48,500.

J¸ \›UPmkuÀ AÔUøP u¯õ›¨£uß ‰»®, {v°¯À PnUSPÎß £i C»õ£zøuU PnUQkP.

(A)
AhUPÂø» HkPÎß £i C»õ£® ¹. 1,45,000

(B)
AhUPÂø» HkPÎÀ SøÓÁõP «mP¨£mh Bø» ÷©Øö\»ÄPÒ ¹. 3,500.

(C)
{v°¯À HkPÎÀ SøÓÁõP «mP¨£mh A¾Á»P ÷©Øö\»ÄPÒ ¹. 1,500.

(D)
AhUPÂø» HkPÎÀ AvP©õP Põs¤UP¨£mh ÷u´©õÚ® ¹. 950.

(E)
•u½kPÎß «x Ámi ¹. 495

(F)
£[S ©õØÓzvÚõÀ ö£Ó¨£mh Á¸©õÚ® ¹. 200

(G)
Á¸©õÚ Á›UPõP, ö\´¯¨£mh JxURk ¹. 48,500.

150. What are the essential features of a good wage system?

J¸ ]Ó¢u T¼ •øÓ°ß, Ai¨£øh A®\[PÒ ¯õøÁ?

——————————






DISTANCE EDUCATION

B.B.A./B.B.A. (Lateral) DEGREE EXAMINATION, MAY 2011.

PRODUCTION AND MATERIALS MANAGEMENT

Time : Three hours
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PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions. 

151. What is the use of Operations Research (OR) in a modern factory?

Kº |ÃÚ öuõÈØ\õø»°À ö\¯»õµõ´a]°ß £¯ßPÒ ¯õøÁ?

152. What are the errors in selection of location?

öuõÈØ\õø» Aø©Âh ÷uº¢öukzu¼À ¤øÇPÒ Gß£øÁ ¯õøÁ?

153. Write a short note ‘‘Gantt’s Chart’’.

Põsm  AmhÁøn £ØÔ ]Ö SÔ¨¦ ÁøµP.

154. Write the importance of ABC analysis.

ABC £S¨£õ´Ä Gß£uß •UQ¯zxÁ[PøÍ GÊxP.

155. What are the primary objectives of materials management?

\µUSPÒ ÷©»õsø© Gß£uß •ußø© SÔU÷PõÒPÒ ¯õøÁ?

156. What are the advantages of decentralization?

£µÁ»õUPzvß |ßø©PÒ ¯õøÁ?

157. State the important material handling equipments.

Pa\õ¨ ö£õ¸Ò øP¯õÐ® •UQ¯ C¯¢vµ[PøÍ SÔ¨¤kP.

158. What are the objectives of stock verification?

C¸¨¦ \µUS \›£õºzu¼ß SÔU÷PõÒPÒ ¯õøÁ?

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions. 

159. What do you understand by the term factory? What are the uses of its study?

öuõÈØ\õø» Gß£uÛ¼¸¢x }Âº AÔÁx ¯õx? Auß «uõÚ B´ÄPÎß £¯ßPÒ ¯õøÁ?

160. What are the relative merits of product and process layout? When they can be used?

ö£õ¸Ò ©ØÖ® EØ£zv ö\¯Ø£õ[S ChÁiÁø©¨¦ Ehß \®£¢u¨£mh |ßø©PÒ ©ØÖ® Buõ¯[PÒ ¯õøÁ? AøÁ G¨÷£õx £¯ß£kzu¨£h»õ®?

161. What are the types of layout?

Ch ÁiÁø©¨¤ß ÁøPPÒ ¯õøÁ?

162. What are the element of production, planning and control?

EØ£zv, vmhªkuÀ ©ØÖ® Pmk¨£õmiß EÖ¨¦PÒ ¯õøÁ?

163. Explain the functions of materials management.

\µUS ÷©»õsø©°ß £oPøÍ ÂÍUSP.

164. Outline the organisational structure of purchasing and give a brief note on it.

öPõÒ•u¼ß ö\¯À ÁiÁ® Kº {ÖÁÚzvÀ GÆÁõÖ Aø©²® Gß£uøÚ ÷Põimk ÁøµP. AÁØÔß «x ]Ö SÔ¨¦ ÁøµP.

165. Differentiate centralised and decentralised buying.

÷ÁÖ£kzxP : ø©¯¨£kzu¨£mh öPõÒ•uÀ ©ØÖ® £µÁ»õUP¨£mh öPõÒ•uÀ.

———————
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SECTION A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

166. Discuss the various approaches to the study of marketing.

\¢øu°¯ø» £i¨£uØS EuÄ® £À÷ÁÖ AqS•øÓPøÍ¨ £ØÔ ÂÁõv.

167. Describe the stages in the development of concept of marketing.

\¢øu öPõÒøP°¾ÒÍ ÁÍºa] {ø»PøÍ ÂÁ›.

168. Explain the different elements of marketing mix.

\¢øu°¯À P»øÁ°À Ch®ö£ØÖÒÍ •UQ¯ TÖPøÍ ÂÍUSP.

169. What is meant by ‘Product planning and development’?

‘ö£õ¸Ò vmhªkuÀ ©ØÖ®  ÁÍºa]’  GßÓõÀ GßÚ?

170. Explain the factors affecting pricing decisions.

Âø»°ku¼ß •iÄPøÍ £õvUS® PõµoPøÍ ÂÍUSP.

171. What are the various kinds of middlemen? Explain.

CøhzuµPºPÎß £À÷ÁÖ ÁøPPÒ GßÚ? ÂÍUSP.

172. Differentiate advertising from personal selling.

ÂÍ®£µzøu uÛ|£º ÂØ£øÚ°¼¸¢x ÷ÁÖ£kzxP.

173. What is promotion mix? What factors influence the promotion mix?

‘ÂØ£øÚ ö£¸UPU P»øÁ’ GßÓõÀ GßÚ? ÂØ£øÚ ö£¸UPU P»øÁø¯ £õvUS® •UQ¯ PõµoPÒ ¯õøÁ?

SECTION B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

174. Discuss clearly the modern concepts of marketing.

\¢øu°¯¼ß ¦v¯ öPõÒøPPøÍ ÂÁõv.

175. Explain the various bases for segmenting market.

\¢øu £S¨¤ß Ai¨£øhPøÍ ÂÍUSP.

176. Define packaging. What are the functions of a good packages?

Pmk©® Áøµ¯Ö. J¸ ]Ó¨£õÚ Pmk©zvß •UQ¯ £oPÒ ¯õøÁ?

177. State and explain the objectives of pricing policies.

Âø»°hÀ öPõÒøPPÎß ÷|õUP[PøÍU TÔ ÂÍUSP.

178. What are the major types of channels of distribution?

ÁÇ[PÀ ÁÈPÎß •UQ¯ ÁøPPÒ ¯õøÁ?

179. What are the different methods of sales promotion? Explain.

ÂØ£øÚ ö£¸UPzvß £À÷ÁÖ •øÓPÒ ¯õøÁ? ÂÍUSP.

180. What are the differences between advertising and publicity?

ÂÍ®£µ¨£kzxuÀ ©ØÖ® ¤µ£»¨£kzxuÀ BQ¯ÁØÔß ÷ÁÖ£õkPÒ ¯õøÁ?

–––––––––––––––
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PART A — (5 ( 8 = 40 marks)

Answer any FIVE questions.

181. Explain the scope of management accounting.

÷©»õsø©U PnUQ¯¼ß Áøµö¯Àø»ø¯ ÂÍUSP.

182. Calculate Net Profit Ratio :

	
	Rs.
	
	Rs.

	Sales
	2,00,000
	Administration expenses
	20,000

	Gross profit
	70,000
	Income from investments
	22,000

	Selling expenses
	10,000
	Loss due to fire
	12,000


{Pµ C»õ£ ÂQuzøuU PnUQkP.

	
	¹.
	
	¹.

	ÂØ£øÚ
	2,00,000
	{ºÁõPa ö\»ÄPÒ
	20,000

	ö©õzu C»õ£®
	70,000
	•u½kPÎ¼¸¢x Á¸©õÚ®
	22,000

	ÂØ£øÚa ö\»ÄPÒ
	10,000
	w°ÚõÀ HØ£mh |mh®
	12,000


183. Discuss the uses of cash flow statement.

öµõUP Kmh AÔUøP°ß £¯ßPøÍ ÂÁõv.

184. Explain briefly about zero-base budgeting.

§äâ¯ Ai¨£øh ÁµÄ ö\»Ä vmhªkuø»¨ £ØÔ _¸UP©õP ÂÍUSP.

185. From the following information, calculate 

(a)
Profit volume ratio

(b)
Break even point

(c)
Profit

(d)
Margin of safety.

	Total Fixed costs
	Rs. 4,500

	Total Variable costs
	Rs. 7,500

	Total sales
	Rs. 15,000


¤ßÁ¸® Â£µ[PÎ¼¸¢x.

(A)
£[PÎ¨¦ ÂQu®

(B)
\›a\©ß ¦ÒÎ 

(C)
C»õ£®

(D)
£õxPõ¨¦ £Sv PnUQkP.

	ö©õzu ©õÓõu ö\»ÄPÒ
	¹. 4,500

	ö©õzu ©õÖ£k® ö\»ÄPÒ
	¹. 7,500

	ö©õzu ÂØ£øÚ
	¹. 15,000


186. What do you mean by capital budgeting? State the nature of capital budgeting.

‰»uÚz vmhªhÀ £ØÔ }Âº AÔÁÚ ¯õøÁ? ‰»uÚz vmhªku¼ß ußø©°øÚU TÖP.

187. A project cost Rs. 5,00,000. It yields annually a profit of Rs. 80,000 after depreciation at 12% p.a. but before tax of 50%. Calculate pay back period.

J¸ vmhzvß AhUPÂø» ¹. 5,00,000 BS®. Cx BskUS 12% ÷u´©õÚzvØS ¤ß BÚõÀ 50% Á›US •ß Bsk C»õ£©õP ¹. 80,000I öPõkUQÓx. «m¦U Põ»zøuU PnUQkP.

188. What is  break even analysis? State its assumptions.

\›a\©ß £S¨£õ´Ä GßÓõÀ GßÚ? AuÝøh¯ AÝ©õÚ[PøÍU TÖP.

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

189. Define Management Accounting. State the differences between Management Accounting and Financial Accounting.

÷©»õsø©U PnUQ¯À – Áøµ¯Ö. ÷©»õsø©U PnUQ¯¾US®, {vU PnUQ¯¾US® Cøh÷¯²ÒÍ ÷ÁÖ£õkPøÍU TÖP.

190. Balance sheets of Veena Ltd are given below :

	Liabilities
	31st March 2008
	
	31st March 2009
	Assets
	31st March 2008
	
	31st March 2009

	
	Rs.
	
	Rs.
	
	Rs.
	
	Rs.

	Share 
	
	
	
	Cash
	18,000
	
	15,600

	capital
	1,40,000
	
	1,48,000
	Debtors
	29,800
	
	35,400

	Reserves
	2,000
	
	3,000
	Stock
	98,400
	
	85,400

	Bank loan
	22,000
	
	9,000
	Land
	40,000
	
	60,000

	Creditors
	10,000
	
	12,000
	Investment
	15,000
	
	7,000

	Profit & Loss a/c
	
18,200
	
	
19,600
	Goodwill
	5,000
	
	3,000

	Proposed dividend
	
14,000
	
	
14,800
	
	
	
	

	
	2,06,200
	
	2,06,400
	
	2,06,200
	
	2,06,400


During the year ending 31st March 2009, 

(a)
Land costing Rs. 20,000 was sold for Rs. 25,000

(b)
Investments costing Rs. 10,000 was sold for 
Rs. 10,500

Prepare a cash flow statement.

R÷Ç öPõkUP¨£mkÒÍøÁ, Ãnõ ¼ªöhmiß C¸¨¦{ø»U SÔ¨¦PÍõS®.

	ö£õÖ¨¦PÒ
	©õºa 31, 2008
	
	©õºa  31  2009
	ö\õzxUPÒ
	©õºa 31 2008
	
	©õºa 31 2009

	
	¹.
	
	¹.
	
	¹.
	
	¹.

	£[S •uÀ
	1,40,000
	
	1,48,000
	öµõUP®
	18,000
	
	15,600

	Põ¨¦PÒ
	2,000
	
	3,000
	PhÚõÎPÒ
	29,800
	
	35,400

	Á[QU Phß
	22,000
	
	9,000
	\µUQ¸¨¦
	98,400
	
	85,400

	PhÜ¢÷uõºPÒ
	10,000
	
	12,000
	{»®
	40,000
	
	60,000

	C»õ£ |mhU
	
	
	
	•u½k
	15,000
	
	7,000

	P/S
	18,200
	
	19,600
	|Øö£¯º
	5,000
	
	3,000

	•ßö©õÈ¢u £[Põuõ¯®
	
14,000
	
	
14,800
	
	
	
	

	
	2,06,200
	
	2,06,400
	
	2,06,200
	
	2,06,400


©õºa 31, 2009À •iÁøhQßÓ BsiÀ

(A)
¹. 20,000 AhUPÂø»²øh¯ {»® ¹. 25,000US ÂØP¨£mhx

(B)
¹. 10,000 ©v¨¦ÒÍ •u½kPÒ ¹. 10,500US ÂØP¨£mhx.

öµõUP Jmh  AÔUøP u¯õº ö\´P.

191. Prepare a balance sheet from the following information :

Current ratio 2.5

Liquidity ratio 1.5

Net working capital Rs. 3,00,000

Stock turnover ratio 6 times

(cost of sales/closing stock)

Gross profit ratio 20%

Debt collection period 2 months

Fixed assets turnover ratio 2 times

(on cost of sales)

Fixed assets to shareholder’s net worth 0.80

Reserves and surplus to capital 0.50

¤ßÁ¸® Â£µ[PÎ¼¸¢x, C¸¨¦{ø»USÔ¨¦ u¯õº ö\¯P.

|h¨¦ ÂQu® 2.5

}º© ÂQu® 1.5

{Pµ |øh•øÓ •uÀ ¹. 3,00,000

\µUS _ÇØ] ÂQu®  6 uhøÁPÒ 

(ÂØ£øÚ AhUP®/CÖv\µUQ¸¨¦) 

ö©õzu C»õ£ ÂQu® 20%

Phß Á`¼US® Põ»® 2 ©õu[PÒ

{ø»¯õÚ ö\õzxUPÎß _ÇØ] ÂQu® 

(ÂØ£øÚ AhUPzvÀ) 2 uhøÁPÒ

E›ø©¯õÍ›ß {Pµ ©v¨¤À {ø»¯õÚ ö\õzxUPÒ 0.80

•u¼À Põ¨¦PÒ ©ØÖ® E£› 0.50.

192. A company produces a standard product. The estimated cost per unit is as follows :

Raw material

Rs. 4

Direct labour 

Rs. 2

Variable overheads 
Rs. 5

The semi variable costs are :

Indirect materials 
Rs. 235

Indirect labour 

Rs. 156

Maintenance and Repairs Rs. 570

The variable cost per unit included in semi-variables are :

Indirect materials 
Re. 0.05

Indirect labour 

Re. 0.08

Maintenance and Repairs Re. 0.10.

The fixed costs are :

Factory


Rs. 2,000

Administration 

Rs. 3,000

Selling and Distribution Rs. 2,500

The above costs are for 70% of normal capacity producing 700 units. the selling price is Rs. 30 per unit.

Prepare flexible budget for 60% and 80% normal capacities.

J¸ {Ö©®, uµ©õÚ ö£õ¸Ò JßÔøÚ EØ£zv ö\´QßÓx. Gvº£õºUP¨£k® J¸ A»QØPõÚ ö\»ÄPÒ ¤ßÁ¸©õÖ :

‰»¨ö£õ¸mPÒ 

¹.4

÷|µiU T¼ 

¹. 2

©õÖ£k® ÷©Øö\»ÄPÒ 
¹. 5

£Sv ©õÖ£k® ö\»ÄPÍõÁÚ :

©øÓ•P¨ ö£õ¸mPÒ 
¹. 235

©øÓ•PU T¼ 

¹. 156

£µõ©›¨¦ ©ØÖ® £Êx£õº¦PÒ ¹. 570

J¸ A»QØPõÚ ©õÖ£k® ö\»ÄPÒ, £Sv ©õÖ£kQßÓvÀ ÷\ºUP¨£mkÒÍx.

©øÓ•P¨ ö£õ¸mPÒ 
¹. 0.05

©øÓ•PU T¼ 

¹. 0.08

£µõ©›¨¦ ©ØÖ® £Êx¨£õº¨¦PÒ ¹. 0.10

©õÓõu ö\»ÄPÍõÁÚ :

öuõÈØ\õø» 

¹. 2,000

{ºÁõP® 


¹. 3,000

ÂØ£øÚ ©ØÖ® Â{÷¯õP® ¹. 2,500

÷©ØPsh ö\»ÄPÒ, 700 A»SPÒ EØ£zv ö\´¯¨£k®, 70% C¯À£õÚ vÓÝUSÒÍøÁPÍõS®. J¸ A»QØPõÚ ÂØ£øÚ Âø» ¹. 30 BS®.

60% ©ØÖ® 80% C¯À¦ vÓÝUPõÚ ö|QÌÄz vmh® u¯õ›UP.

193. Assuming that the cost structure and selling prices remain the same in periods I and II find out :

(a)
Profit Volume Ratio

(b)
Break Even Sales

(c)
Profit when sales are Rs. 1,00,000

(d)
Sales required to earn a profit of Rs. 20,000

(e)
Margin of safety in IInd period.

	Period
	Sales
	Profit

	
	Rs.
	Rs.

	I
	1,20,000
	9,000

	II
	1,40,000
	13,000


I ©ØÖ® II B® Põ»[PÎÀ, AhUPÂø» Aø©¨¦ ©ØÖ® ÂØ£øÚ Âø»PÒ J÷µ ©õv›¯õP C¸¨£uõP ³QzxU öPõsk.

(A)
£[PÎ¨¦ ÂQu®

(B)
\›a\©ß ÂØ£øÚ

(C)
ÂØ£øÚ ¹. 1,00,000 BP C¸US® ö£õÊx C»õ£®

(D)
¹. 20,000 C»õ£zøu DmkÁuØSz ÷uøÁ¯õÚ ÂØ£øÚ

(E)
II® Põ»zvØPõÚ £õxPõ¨¦ £Sv ÷£õßÓÁØøÓ Psk¤iUP.

	Põ»®
	ÂØ£øÚ
	C»õ£®

	
	¹.
	¹.

	I
	1,20,000
	9,000

	II
	1,40,000
	13,000


194. What do you mean by accounting rate of return? State its merits and demerits.

PnUQ¯À Á¸Áõ´ Ãu® £ØÔ }Ãº AÔÁÚ ¯õøÁ? Auß |ßø©PÒ ©ØÖ® wø©PøÍU TÖP.

195. What is meant by fund flow statement? State the limitations of fund flow statement.

{v Kmh AÔUøP GßÓõÀ GßÚ? {v Kmh AÔUøP°ß SøÓ£õkPøÍU TÖP.

————————
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Answer any FIVE questions.

196. In what way is the wealth maximization objective is superior to the profit maximization objective? Explain.

Ea\{ø» ö\õzx ÷|õUP® GÆÁÈPÎÀ C¸¢x Ea\{ø» C»õ£ ÷|õUPzv¼¸¢x •ßÝ›ø© ö£ÖQÓx? ÂÁ›.

197. State the important characteristics of a good financial planning.

]Ó¢u {v vmhªku¼ß •UQ¯©õÚ Snõv\¯[PøÍ ÂÍUSP.

198. What do you mean by the terms ‘‘Over-capitalization and under capitalization’’? How do they take place?

‘‘÷uøÁUS ÷©»õÚ ©ØÖ® ÷uøÁUS RÇõÚ’’ ‰»uÚ[PøÍ¨ £ØÔ¯ E[PÎß ¦›uÀ ¯õx? CøÁ GÆÁõÖ {PÌQßÓÚ Gß£øu TÖP.

199. Explain the differences between a share and a debenture.

£[S ©ØÖ® PhÜmk¨ £zvµzvØPõÚ ÷ÁÖ£õkPøÍ ÂÁ›.

200. State the merits and demerits of Debt financing.

Phß {v°ß |ßø©PÒ ©ØÖ® wø©PøÍ ÂÍUSP.

201. What is a term loan? What are their features?

Põ»U Phß GßÓõÀ GßÚ? AÁØÔß ]Ó¨¤¯À¦PÒ ¯õøÁ?

202. Define Public deposits. State its advantages and disadvantages.

‘‘ö£õx&øÁ¨¦’’ Áøµ¯ÖUP. AÁØÔß |ßø©PÒ ©ØÖ® wø©PøÍ TÖP.

203. What are the various methods of assessing working capital requirements?

|øh•øÓ ‰»uÚz ÷uøÁø¯ wº©õÛUS® £À÷ÁÖ ÁÈPÒ ¯õøÁ?

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions.

204. Discuss the role of financial manager in India.

C¢v¯õÂÀ {v ÷©»õÍ›ß £[øP ÂÁ›.

205. Discuss how financial requirements are estimated.

{vz ÷uøÁPÒ GÆÁõÖ ©v¨¤h¨£kQÓx? ÂÁ›.

206. Describe the determinants of optimal capital structure.

ªPa \›¯õÚ ‰»uÚ Aø©¨ø£ wº©õÛUS® PõµoPøÍ ÂÁ›.

207. Discuss the different types of securities.

£À÷ÁÖ ÁøP¯õÚ ¤øn¯¨ £zvµ[PøÍ ÂÁ›.

208. Discuss the structure of financial institutions in India.

C¢v¯ {v {ÖÁÚ[PÎß Pmhø©¨ø£ ÂÁ›.

209. Discuss the sources of working capital.

|øh•øÓ ‰»uÚ Á¸Áõ´ CÚ[PøÍ ÂÁ›.

210. ‘‘Working capital must be adequate but at the same time not excessive’’ – Comment.

‘‘|øh•øÓ ‰»uÚ® ÷uøÁUS ªPõ©¾® ÷uøÁ¯õÚ AÍÄ® C¸zuÀ ÷Ásk®’’ – E[PÒ A¤¨¤µõ¯® TÖP.
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SECTION A — (5 × 8 = 40 marks)

Answer any FIVE questions.

211. What are the differences between Human Resource Management and Personnel Management?

©Ûu ÁÍ ÷©»õsø©US®, £o¯õÍº ÷©»õsø©US® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ?

212. Explain the process of Human Resource Planning.

©Ûu ÁÍ vmhªh¼À Ch®ö£Ö® {ø»PøÍ ÂÍUSP.

213. Distinguish between Job Description and Job Specification.

£oU SÔ¨¦ ©ØÖ® £oz uSv BQ¯ÁØøÓ ÷ÁÖ£kzxP.

214. Write short notes on ‘‘Job Analysis’’.
]ÖSÔ¨¦ ÁøµP : ‘‘£o B´Ä’’.
215. Explain the need for training in industries.

öuõÈØ\õø»PÎÀ |hzu¨£k® £°Ø]PÎß AÁ]¯zøu ÂÍUSP.

216. What are causes for Grievances in Industries?

öuõÈØ\õø»°À E¸ÁõS® SøÓ£õkPÐUPõÚ Põµn[PÒ ¯õøÁ?

217. What are the principles of wage and salary administration?

T¼ ©ØÖ® \®£Í {ºÁõPzvß öPõÒøPPÒ ¯õøÁ?

218. What are the various incentives available to employees?
öuõÈ»õÍºPÐUS QøhUQÓ £À÷ÁÖ FUP E¯ºÄPÒ ¯õøÁ?

SECTION B — (4 × 15 = 60 marks)

Answer any FOUR questions.

219. How does Personnel Management assume significance in today’s organisations?
CßøÓ¯ Aø©¨¦PÎÀ £o¯õÍº ÷©»õsø© G¢u AÍÄUS •UQ¯zxÁ® ö£ÖQÓx?

220. Discuss the managerial functions of human resource management.
©Ûu ÁÍ ÷©»õsø©°ß ÷©»õsø©¨ £oPøÍ ÂÁõv.

221. What do you understand by selection? Explain the steps involved in selection procedure.
£o¯õÍº ÷uºÄ £ØÔ }Âº AÔ¢uøÁ GßÚ? £o¯õÍº ÷uºÄ •øÓ°ß {ø»PøÍ ÂÍUSP.

222. Define performance appraisal. Explain various methods of performance appraisal.
Áøµ¯Ö : ‘‘vÓß ©v¨¥k’’. £À÷ÁÖ £o¯õÍº vÓß ©v¨¥mk •øÓPøÍ ÂÍUSP.

223. Discuss the different factors that determine wage and salary.

T¼ ©ØÖ® \®£Í® BQ¯ÁØøÓ wº©õÛUS® £À÷ÁÖ PõµoPøÍ ÂÁõv.

224. Explain the different methods of Job evaluation.

£o ©v¨¥mk •øÓ°ß ÁøPPøÍ ÂÍUSP.

225. Discuss the steps in a disciplinary procedure.

£o¯õÍº JÊ[S |hÁiUøP •øÓ°ß {ø»PøÍ ÂÁõv.
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